Process to Process
Communication with Sockets



Process-to-process Communication
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Port Numbers
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Client-Server Paradigm
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Process-to-Process delivery needs IP address
and Port number
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Connection-less lterative Server

Client IS

Server
Ephemeral port [] —
UDP ~-.

One client '
at a time Well-known port

Client

Ephemeral port e
' o8
UDP




Socket Interface for Connectionless
Ilterative Server

Each server serves many clients but handles one request at a time.
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Each server serves many clients

but handles one request at a time.

Requests from different clients
can be mingled together.
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Connection-Oriented Concurrent
Server
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Client+server: connection-oriented

A parent server creates many children;
each child server serves only one client.
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